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S60 [ 10 [ F20 | A2l [ W27 [ _H23 | Hed | W25 | F26 | W27 | 28 | _H29 | 130 | _RL R? R3 RZ
mEAM b | 40| 44| 44| 42| 42| 42| 42| 40| 40| 40| 40| 41 41 41 38 38 37
ERGBIEE  [WEh (0 | 40,872] 49,056 50,712 49,056] 49,056 49,056 49,056 | 44,364 44,364| 44,364 44,364| 45314 45,314| 45,314 41,798| 41,798| 39,874
(NE—TH) [§2E (0 | 75,357| 78,854 71,531 68,541| 68,631 | 66,359 66,597 | 65,666 65,964| 66,537 | 66,543| 67,669| 67,956| 67,956| 43,527| 47,768 50,482
B (%) 184] 161| 141| 140 140 135] 136 148] 149 150 150] 149| 150] 150 104| 114| 127
EEAm ) | 26] 27| 24| 24| 24| 24| 24| 24| 24| 24| 24 24 24 24 24 24 24
RRELR 47 (L) | 33,672| 37,260 33,120 33,120 33,120 33,120| 33,120 33,120 33,120 33,120 33,120| 33,120| 33,120 33,120| 33,120 33,120 33,120
(- %8 (L) | 60,189| 56,357 48,261 45,600| 45,179 | 44,606/ 45,337 | 45,394 45,275 45,566 | 45,559| 45,537 45,023| 44,728 31,035| 32,481 35,129
BAEE (%) 179] 151 146| 138 136 135| 137| 137| 137| 138 138] 137| 136| 135 94 98| 106
EEAN D) 12| 14| 14| 14| 14| 14| 14| 14| 14| 14| 14 14 14 14 13 13 12
sH®mES  [WEh (0 | 9,264] 11,692|11,592| 11,592| 11,592|11,592| 11,692 11,592| 11,592| 11,692 11,592| 11,692 11,592| 11,692 10,764| 10,764| 9,936
(eks—xe) (@28 (0 | 14,071]17,334) 16,127 15,873| 15,931 | 15,471| 15,524 15,585 15,389| 14,839 | 14,562| 14,849 14,487| 14,322| 9,772| 10,061| 11,177
B (%) 152|150 139| 137 137| 133] 134| 134] 133 128 126] 128 125 124 91 93] 112
EEAm ) | 28] 28] 24| 24| 24| 24| 24| 24| 24| 24| 24 24 24 24 25 25 25
bR f%7 (L) | 35,840| 35,840 30,240/ 30,240 | 30,240/ 30,240 30,240 30,240/ 30,240 | 30,240 30,240| 30,072| 30,072| 30,072| 31,464 31,464| 31,301
GezE—wg) (2R (0 | 72,754] 63,812 53,456 51,904| 50,032 | 48,648 48,629 | 48,138 47,548| 48,060 49,220| 49,098| 47,807| 47,397 34,340| 34,847 36,450
BAEE (%) 203| 178| 177| 172| 165 161| 161| 159) 157| 159| 163| 163| 159 158] 109 111| 116
meAm R) | 24] 26| 26| 26| 26| 26| 26| 26| 26| 26| 26 26 26 25 2 2 24
mamEs  |wen (0 |30,240] 33,600] 33,600| 33,600 33,600 33,600 33,600 33,600 33,600 33,600 33,600| 33,412| 33,412| 32,020| 32,020| 32,020 30,747
(FEe—smEe) @28 (L) | 60,248 56,907| 53,996 53,556| 52,700 | 51,962 53,166| 52,697 | 52,074| 52,493| 52,568 | 53,419 53,283| 52,446 36,075| 35,109| 37,883
BHEE (%) 199]  169| 161| 159 157| 155| 158 157| 155 156 156] 160 159| 164| 113 110| 123
BREAR | |[ERAR (D) 5 5 4 4 4 4 4 4 4 4 4 4 4 4 4 4 3
~we w52 (0 | 2,699] 2,120| 1,892| 1,824 1,804| 1,804 1.804| 1,772| 1,772 1,772| 1,772| 1,772| 1,608| 1,608 1.608| 1,608| 1,206
wis- e (@R (0| 1,806 1,536 1,439| 1,423 1,389] 1,370| 1,382| 1,390| 1,407| 1,387| 1,364 1,369] 1,353 1,329| 898 1,018] 866
e s | RAEE (%) 671 72| 76| 78] 77| 76| 77| 78] 79| 78] 77 77 84| 83 56 63 72
ATHAOOE |EEAS ) 9o 12| 14| 14| 14| 14| 14| 14| 14| 14| 14 14 14 14 14 12 12
i win (0 | 1572| 2,736] 3.332| 3,332| 3,332| 3444] 3472| 3,500 3,500| 3,556| 3,598| 3,598| 3598| 3626| 3,640 3,144] 3,144
xmwmsoxm (@28 (0 | 1,941] 4,202 4.243| 3,870| 3,865| 3,930| 3,905 3.835| 3,909| 3.976| 4,097| 3.842| 4,026 4,114| 3243 3518| 3693
BHEE (%) 123 154] 127] 116 116] 114] 112] 110] 112 112] 114] 107| 112] 113 89| 112] 117
A () 4] 12| 12| 12| 12| 15| 15| 15| 14 15 16 15 16 16 16
BERESER (M2 () 12,348|10,584| 10,584 10,584 10,584| 13,230 13,230| 13,230| 12,348| 13,230 14,112| 13,230 14,112| 14,112 14,112
i rmEn [EE () 14,941] 13,286 12,523] 10,891 | 12,476 14,682| 14,592| 15,965 15,212 16,319 18,019] 17,350| 13,601| 15,488| 15,523
BAEE (%) 121] 126] 118] 103] 118 111] 110] 121] 123] 123] 128/ 131 96| 110] 110
A () 20 20| 20| 20| 22| 22| 22| 22| 22 22 22 2 25 25 24
oz raT AR @2 () 16,440| 16,440 16,440 16,440 18,084 18,084| 18,084 18,084 18,084 18,304| 18,304| 18,304| 20,775| 20,775| 19,944
(EBH-1FR) |B2E (O 25,896/ 25,007| 26,232 25,811 26,339 | 26,597 | 27,913| 28,280 29,218| 30,140 31,022| 31,324 24,021| 25,590 27,480
BHEE (%) 158| 152| 160| 157| 146 147| 154 156| 162| 165| 169 171| 116 123 138
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